JET

Operating Instructions and Parts Manual

28-inch Direct Drive Drill Press
Model J-2350

WALTER MEIER (Manufacturing) Inc.

427 New Sanford Road
LaVergne, Tennessee 37086 Part No. M-354050

Ph.: 800-274-6848 Revision G 06/2013
www.waltermeier.com Copyright © 2013 Walter Meier (Manufacturing) Inc.



[T

wesebuyas ap neAny |

[¢]

eRIONZY UaS 4N Y00Z-60-€C _ “BYoa4 uoIsinay
Ol g euinbe|y N ShIoy-vOlL ojapo.
, R . €002-0}€C | ‘ewed TWHINID OLNNFNOD
e s ’ o ‘uop-. opelhqig WNWZ3gvo ;ugpeLIIcUs(
N g
o
0
a
= —~[
H© W ®) o

yoneysyng i gr Uoudezuen
Znyossyagiy] 3N2309101d] 3 ", 10J09301d.

adwer adwen e s © eledwe)

‘plojusisepian() SPUBLLILIOD 8P NEJUUE ), loued jonued}. . - 'sopuEt) op OB d
agoulabjjeyosqnyosion| eduenep Juswabueys op axy| yeys bupppaad].  seoueAeiap:-olqwes)
-oqeiioB|dsivempeiuyez] - $9SSOlA 9p Juswabuey) SPEpIOojaA ap-OIquWes
{2qsuiebiasyoempesuyez| J-ap Justiebuey )| abueyo paadg| sspepioojan ap:oiques)
! asyoeqRll Jnajotu 2iqIYy| yeys Buwug Jojow 9lg]
¢ 1 gsloruaYISIMZ] €U uelpaw nalss3| £u Yeys ajelpalialy] €ol-0lpaunaiul a3

271U asljortia|yosImg | Z°Ju UBipatnAIss3] U Yeys sjetpauusiuf] Z.U olpauLajul a3

LU asiy Gosimz 1 "Ju-uelpous najssJ| L au yeys ajeipeuLajuy] J:ol Olpatiusyul-a[3
asyoeadwndpeiuyez| abessieib ap adwod ej epaxy] oxe dwuind Buiseais| aseibua ap equoq al3
ASYOBQNYISIOAN| napuojoid ap 8Xv; yeys yydag| pepipunyosdap 9f3
asyoe)e] SPUBLILIOD 3P JONS}BXY URYS BAUQ opuew ap i3
asyoesapniyog| abejjpno-spod axy| “ajpuids-Buljjuq| sejusiwesay-epod afg

<mQQu.|u.(?:|:_-—a¥_|EZO




T eniory 8U9S N v00Z-60-€2 | ewed | | | uosmey |

O 1= Bumbe ;N ShIOP-vYOL OloPoi
vrgrseat i ,,

€002-01-€C |  ®uoed IVdIONRId 373

uor opeinaig | 1vZ39vD i i @ @ @ e @V@ @@ @

7

| A
,
—cad B
, -
AN
/[
)

DN

»

DOLY

AR RTINS

DAY
yA waY
v/

MY

H

\\\\\

o

>
/

M

D

156

3
x .

ISHOVHALLNAYHNE
JOVTILLNO 31LH0d IXV
F1ANIdS ONITHEA -
SVINIINVHY3H V140d 3rd

(v)

RO OO0
Se

BHOCEEEERO® &




emonzy , ausg N Y00Z-60-62 _,; Byosy | | | voismey
O 143 I | euinbepy N SYI0P-YOL olepoyk
T m €£002-0L-€2 eyoey SOIG3NEIENL 373
ol —_uor | opeinag vZ38vo Sa i
ovi){ 6¢ )(691)
()
8¢ S Sl
A .
8T
(vol =
Iz TS _,.. d
9z ‘ LE |
A ,
=
oyl
691 & , =
[P

| ISHOVYNIHIIAINGILNI
1 AAIWHIENI IXV
L 1dvHSH3IINNOD
| OIA3IWA3LNI 3r3

)

Z ISHOVNIUIIQINYTLNI
Z IAINHILNI XY

Z 14YHSHILINNOD |

Z OIAINYILNI 3r3

9yl

691

€e

€L

ce

1€

6¢

o¢

Ci43

{691

€ ISHOVNIHIIAINETLNI
€ JAINHILNI IXV
€ 1dVHSHEILINNOD
€ OIQ3anWY3LANI 3r3
(®)

TN 1T

I

00066600000




enioNzy aUsg N ¥002-60-€C _ BYIO4 _ 1 co_w_>®m i

~ 13 | . - eunbei N | ____SWOVWOL .. | ompoia).
AU<|_W_m .| £002-01-£2 ewed | VEINOE A SONVAY S3r3 o

c: v r_qu OvN.:._n,_D |_<Nwm<o EQUNE,EO.:O,D

ISHOVNIdNNG &
IdNOd V1 3d IXV @ |
J1ANIdSaNog
vaog 3r3a
(@)

GNHOSHOA H3Aa ¥Nd4 ISHOV
JFONVAV ¥NOd IXV
31ANIdSd334
FONVAY 3rd

(0)




’ s
§
lei’
Ts
(o]
5§
=2
I
N
2
£le
B3 & ‘!EV
<
-
3 |8
S| |
g |2
Z2lel8
[ 519
Og|R|s
<| (8
w [Ty
Wl
[97] ]

AN

()
Ot
g‘(

RO
Oamn”

(B)
EJE DE MANDO
DRIVE SHAFT
AXE DE LABIER DE COMMANDE

LEITACHSE




" enioszy ‘ susg N ¥002-60-€2 | Soed L ugisiney . f Lt
~1=3. | euinbelt N_| SYIOV-VOL - oppow | TN Sl oty
O 13 | €002-0L€Z:}  Eyoed 04d9-H010310dd | , D-‘_,m_,n_,_zm_._.w<._.v._03w_o
V' seat e BRI TTOTS opeingig IvZIavo ‘uproeUILouaq | AANVINNOD 3A NVINVYd

T13aNVd TOd1INOD

NYANL IONVT
F1LLAHOS ©3d
NOQLIdVZNV']

\ oNmoIaav
7 {N3LO3L0Nd
- auvns

¥0.10310¥d

(N)




— L s N | 0026062 | Ewed | | | uosiey
O 133 | _eumbep N | SOy vOL OlepoN |
L " | £002-01-€2 Byoad | SVdvl
e TS opeinaia 1vZ38v0 ugpEumousa |

JONVHO d33dS

(1)

393[H1LIOT1ISHOIMAVENHYZ
S3SSILIA 3A LNFWNFONVHO

S3avaloo13A 3a OIgNVO

3JONVAV.d
INIFWNIFONVHO 30 IXV
14VHS ONIL14I1 a334

S3IONVAY 3d OIgINVO

™)

b




:!o':
k4
<
£
b e
o .
.
=
(@]
g1y
=22
P
N
ol |E
Elao
HHHE
alel=|.
(=1 e
<
(=]
. (=]
q
D
< Q
=l < 5]
S
~ [=]
B2
= Ll
< <l
(SX &1 = -
Q
D
w
-
&
8
) c
g {2e
@
§ |33
=y




enozy L ses.N | 70006062 | weed | 1 | uesmew

, euinbeN N | SHOP-YOL pY—v—

D 8 v 07-VOL HOLOW 373 ,
iy — - uor opeinqia TvZ3agvo ‘Ugeuiwousg |

o) @) Ze” g

ISHOVHOLOW
. dN3LON IXV
FT1ANIdS HO1ON
HOLOW 3r3
0r-vOL

(H)

@) —
OO

§Zl 6

®




—— oUag N $002-60-€2 | mwed [ | uoIsIASY
O |— M — m “eunbey N SHIOv-vOL OlopPo;
£002-0}-£C eyood ,
vs wor opeinaia 1SI7S1Evd v_,o;o._.mn_<,m=._ ugeUIWOUa]
L 8XpPW MZL €L6:NIGANLS). £L0S0¥9 | 65l [4 FIGNVH IONVHO]  Sb0LL09 90L 3 ONILOZLOUL WV  QSOLLOY £S5
4 SXOLIN OB ELENIQANLS|  £0050¢9 - | 851 3 HIHSYMUOLOW] SE0LLOR | S0L: 3 dANg ONISYIND:3ENL dRID) sY0LLOY {41
13 8V 8629-NIQ WIHSYM QIIvAYIS| . L00LOYS 151 L. 09/0v VOL0/L3) JANE AYVLOY] S009LES YOl 2 IIX-HIAIOH™VID TWOINCD).  8v0LLOY 5
S PLWSTLNIGYIHSVM]. 90000¥9. | 95E | L. 0020 Wd- 0051 ZH-05 A 00%I0E2 dH.Z HOLOW| 1L0LEQSS | €01 L FIANIdS)  zvoLiov 0
£ BN-STLNIQ.JIHSYM] . -£0000179. SG1. L ONIHLS AN di¥L OlyWoLrny| voLLios  |zoL b HIAOCD ONISAOH MVID TWOINOD)  SHOLLOy | 6
b X800ZE ONINVIE] $00E0ED 1223 L LTALNO- dWNG D34 NO-ONIMRIA]  -L89TLSY Lol b SSTIAON3}  FPOLLOV Ll
L QFILX0S1X08T n_w.<3mv_ 9020006 802 3 CSGE-SVYMSIATVIXV]  LTOZOEY €61 L dOLS DONIYHS HOLO3r3} 648LLSH 001 L H3HSYM| ZroLLoY i
3 "dOLS. INOULS: n_o,n_zm_ 90LLLOZ, | SOT L TSSEMXV TIVIXY, 261 [4 ONMd ISVANIINN0|  £20L1GY 66 L Hv3O-0334 3187001 Ly0LLok S
[4 AVID. 4(0_200— - EL0VL0L 02 € 50115 ONIMY38|- +00LOED. 523 L INIWHOVLIV-ONRIJS| €L9L1SY 86 3 AY3O :033d4-3718N04A|J - 0r0LLoy pd
2 JFHSYMYTOVES ONIIVIE) 1204404 | €OT b 8@ TIYE 1331S| - ZC0D0ED [ L INIWHOV.LLY ONRIJS] -2L9LLsh 16 L ONIHSNE HOLNTO) - 6€0LLAY j44
3 dA3Ts| ozovvoL [eoz Z L0Z9'ONRIV3E) 9L000E9. Byl Z ONRIDS TONVH ONISHUIATU}]  699L1SY- 96 1 . TIXVAIAIOH NHOM|  SE0LLOY >4
L J33HM] 1201102 10Z | 1 90Z8 DNIMVIS| ‘5100089 | svk L ONRIJS FTANVH-ONISHIATA|  599LLSY S6 L Av3S| seovioy - 2@
L (223) 622 NISSANUITTOH-JWY| Loosrse f.ooz 4 S0Z9.ONI E(mm_ #LO00ED irl L ONRIS 301033} 899415k e b UVIO]  9E0LLOY 24
! 3 LE0L ¥SSaraZ I3L:NOLLAG gL - .choolse | 661 . B 0T Ozw_(mm_ £1000£9 Sl 3 ONINdSHOLO3r3| 899LLSY £6 | " b LIVHS:3NTGS)  SE0LLOP or
(4 PYEYEZ 3L NOLINGHSAENIIUD| 5000458 | 861} Z Z0Z9-9N E(mmw 04.000€9: Sl | L FIANYH FIONIdS| 099LL8p 6. | 15 3IAIIIS]  PLOLLOY | BE |
] 2 PVBYEZ 33L NOLLNG HSNd A3¥) . p000LSS 181 Z 8009 ONIMYIB) 90000£9 | Pl 3 J1VId NOLLNG-HSNd] -LZ0ELOY 16. 3 UVID-0I34F18N0A]. £E0LL0Y B8E
3 S0SZES EMFEILEL EFHDLIMSOMDIN] 1008059 | 96k Y4 SLXEWN 98- NIQ M3AOS)  EOOS0ZS: £l L M3N¥3S]. Leslior |06 13 JAN MIYIS|. ZEoLloy LE
13 LZQ+SLOL NODHINZL HOLIMS NIV 'S002059 561 3 OLXPW 68624 NIGQ M3YOS] . €005029 | 2kl 3 ONIYdS 00| . 8Z9L LOY. 68 12 AV3ID| 0L0LLOY 9¢
[4 LLOL-ddY HOLIMS] 1002059 PEL: 3 25N ENNONIMOOT 4738 £0L€0Z9. | ibl 3 AVIO VOION|  L19LL0Y. 8 - L HvaAD] 6ZOLLOY S
Z. SSX9@:-Nid: Jk:SY13]. - 60062¢9 - *{.€6L ) 3 WM ENNIDNIMOOT 138 - TOLE0ZS: | OFl- s ¥OLO3LO¥d] -9ioLLok 28 L TIANIdS] 8T04107 vE
Z SLXp@ NId ILSYIS] ‘1006Zye Y 26k 9 PEWPESNIQ ENN| . ZOOE0ZS: BEL 14 HOLDILOMd| sisLioy | 88 3 Hv3o| 220LL0p £E
€ £0082r9 [ | ZLWVESNIA 2AN] 900€0Z9 8gl 3 QoY IONVHO O33d| vioLioy S8 3 _VIAD| 9ZoLLov ze
4 09X9@:NId ¥3aviLl zooszr. '} osi | 6 “BWVES NIQ LNN|. P00E0Z9 I 13 H¥IN0D ONIHSNE]  Zisliob ¥8. L dv3ao| sZoklok 1€
[4 SE@ TIVE.C984:9UTNO} . 100LZHY | 681 i SEXOLW: 9°6 £E6 NIA MIFOS| #E02029 | SeL 13 YIAOD LNOJ TWIINLOITI| OkSLLOK €8 | 3 HVIAD| pZoLLop 0F
3 DIXZTIBXOS@HINV LY} 120vTre. | 88l |4 SZXOLW 9'G:EE6:NIA. MIYOS] ™ ZLozoze  |set: 13 LAN ONINTLSVIONINYIE]|. . 609LL0r .28 ] 1 TIANIJS) . £2OLLOY [:4
3 IXZSOXTY @ HIANVAIY] . SLOpZre 184} 3 SLX8W 9°5:E€6 NIA.MIFOSE . 9002029 PEL 3 AAITIS|.  BOSLEOR 18 4 )3 ¥Y3D] ZCoLLor. j:4
Z OFXCOPXSEGHINIVEIY] LLOKZHY 98L. 3 SEXZIN8'8°EE6:NIQ. MINOS].  £0020Z9 £EL } AAITNS] S80LLow 08 3 Av3O] L20LLOY Z
L 2X0E ANV LM 0 . s8L 9 ' GEXBW 9'G LE6NIC MIHOS|  L00L0Z9 ZEL | _. NId AL3IVS YOLOIr3{-. Z80LLay 6 L HVIO] 0ZOLLOY: 9T
14 QLIN-08X0e2 - SONM]: - :500T2r9 P8l z SSX8W 8:8:TLE NIQ MIYOS| SS000Z9 VEL s YIHSYM]  LBOLLOY 8L L Hv3IO|. 61010y ST
£ BIN-95X9Z2 SONM| - POOZErS £8L. (4 QPN 8°8-ZLE:NIQ, SpOBOZY | 0EL 12 QOd:H0OLO3N3 LIA}  080LLOY . 24 L TIONIdS] 8LoLiCh |4
2 . . £OXOTS BONM|: £00ZZre Z8lL ] i . DXOIW:8'8ZLENIG MIUOS} -6200029 621 Z 3I10NIdS ¥3CTOH TOULNOD}  840LL0F LA § 5 HINOOONIMVYIE]  ZLOLEOY |24
4 S'IXS'VE YIH MIMIIA] - LOOLZHES L8l | 13 STXOLW-8'8-ZLENIG M3 9200029 8zl L (LNN DNILOTLOEd}  220LL0F -7 L HUIHSVM HIOVES ONIEVAE] 901101 (=4
14 12-3:€60T NIQ'ONRIIS:08IA| ~ £000Z¥3 08l S OEX8W.8'0:ZLE NIO M3¥DS]  Z1000Z9 ATL € Nid ONINZLHSIL ON ONLEOINNOD]  suonior | v L ¥yaADL SLoLloy. | T
1 WW00p 900E- NI ITLLNHS: O3] - S00L44p9 [7A% ‘5 'STXEW 8'8:7L6 NI MINDS| 9100029 91 L F1V1d Q3348 - ¥Z0LL0 €L 3 JYID! #LOLLOY 0
Z TNV ONRFO} . -2008LyS 84l 82 OZXGN:- 88716 NIQ M3N0S] 5100029 ST i JLvd 33d|  TZ0LLop (43 13 Hv3D] €10L10P 6l
3 -6-NVONRISOF  L009EFS | AL 142 SLXBIN.8'8:ZLENIQ.MIFIS| ¥L0D0TY Tl 2 HIHSVYM|  850LL0p (23 3 ITXV MNVHS|. - 21010 8)
L QPXXe-S88NIA A  6LOELPS  |OLL € OZXON: 88 ZHE-NIQ MIYIS|  80000T9 [x49 3 . HIN0I BNHWYY] - 290L1.0% 0L L) JAVIOTNANIES] GLotLOY b
L TEXEXS: A BLOSIYY Sl g SEXOW 878 TL6'NIQ M3YOS] 2000029 f«4% 3 ANH-B3FIOH WEV] 990410y 69 ° L ONI OHD FIANIJS]: 600LLOP 8l
L 04XSX0¥-GR8 NIG AT - ZLoeyps | w2t 13 0LX9W8'8.Z16 NIQ. MIHOS| "90000T9. LZL [ HSME DNIARICAOILYNCILNY| <9010y | 89 Z COMIDNYHO G334 800LL.0¥ St
} STXOXYW-SREGNICADI]  BO0ELYS- . |-€Lt ] i B/£0T05 18- IAIIS].  LLOELLS: 0T L HSNE-ONIARIG-JILYWOLAV] . yo0LI0Y 28 L AIANOIINOL WIREED313] 200110V 143
[4 PLXOXO V-SRBONIO ATM) £00ELyS [Tl Z ONIIdS] 6LLLLOY &hb b ! HIATTOANI il €90L10% 99 ¢ L HIA0D NMO¥D ANV XOBNVYID| 900L10¥ 23
L VIXSXG V-S8BONIQ ATM| ZO0ELFe {121 ) 14 /3AINSD TOHENOD IONVYHD} 8LLLLOG | 8hE L INIWHOVLLY OILVINOLINY ONI-di¥Lf Z90LLoy. | S9 L HIANOD.IAHA A334| s00LLOr {43
3 TS-EZLy NIGONREDIESYAZ| . 800GERS ' [.02L . Y3QT0H-130NV4)  LLL09 | 2LL L ANIWHOVILY DLLYNOLNY AN dlbL] ~Ls0L1ov Y9 L . YIA0D3ANG'TITLS| ¥O0LLOY Ll
S LTI NIQONIY: o_._.w<um— 9000179 691 [4 v 1d NOLLOSHIA]. - 6141109 I | s Q334 DLLYWOLNY JO-HSNE ASHLOOL| 090110t £9 | L HIAOD-AvIH| . €00L1LOY 0
3 SE1 2L NIQ-ONRY: o_hwjm_, £000L¥9 891 L FLvd NOILLOISIg] _ B60LLL0Y: Sl b NMOMD| 6s0Li0r Z9 i HIA0D HOLINGIMESIC NO|: Z00LLOY 8
1 06-3 1457 NIQONR: U:%(qw_‘ 606079 491 L. DI ALTIVSHOLIAr3| 6604109 il L OSIT HIATOH-NMOHD| 8soLLOY 19 | 1 MIOLSAY3H] LODLLOY i
L 093 LLr NI »wz_w_.o_r_.wiw_ : YLO60re |99t 13 ONIYNLS| 804109 gLt 3 PIHSYM HIOVLS-ONINYIE| LS0LL0Y as 13 1HOddNS OO} 65ZLLOE z
L Se-3 LI Z_OOZ_KU_Hw(‘_m_, 8006079 ' SOL L Nid| L60LL09 |21 L NI HIATOH ONIY SS0LE0P. (53 L 1H0ddNSQYYND TNNA| . ‘9ZCTEST 9
€ S22 L4 NIGONRSOLLSY 13, _ 500609 | ¥oL P AANNES-HIATOH TOHLNOD. 0601109 LLL I FIXY ¥3ATOH NMOAOY- -SSOLLOY 85 L FIAISINONLEVIIANL  -290L16T S
14 0L-3- L2 NIQ-ONIRSE-DILSY 3] - L0060PS . -] €91 [ FTONIIS YITIOH TOHINGD|  ¥Z0L108. QLL 3 FIXY INVYHS] . #S0LLOV 28 14 | UIAT TNV 60SLOST: |4
L Z2-ZL HOWMINdWNVAD] * L00govs | 29t T TOFINODIONYHO|  020LE08 . |'60L° 13 TIINIISHIAATOH Lig| esoiior | 98 L HSAS ONINILHOIL MNYHSE 060108 €
L 223 MSTAOELSZL dNVT| - LO0SOYS: 19l [ TOYLNOD IONVHO[- 0501109 801 L 2Lvd 93070H dAVT| - ZS0LLor ss b HSNFONINFLHOTL MNVYHSE 6801052 Z
5 STXGN O8ELE-NIQ GNLS] 0ZOS0rS 081 i LI09:ONIAIESG]  2v0L1L09 | 26L L ONELOTLOYd dNVT] 150110V s 3 | MIYOSONLLISNIAV. HOLOIMT| | S80L0ST 3
ALIINYND NOELZINIS3a 3002 AN | CALRENYND NOILJIMIS3a 3000 AN | ALIINVND ’ NOIL4¥083A. 3000 “HN-f ALLLNYND ‘NOILARDS3T _ 3a0o “HN




(H)

eqoxzy Y00Z-60-62 | . mued | | | uoisey
O |— W— m SY/07-VOL Olepon
€002-0L€Z. . SP-VOL HOLOW 3r3
s seall L O —._O_) o I_<Nmm<o ‘dojoeuiwiouaqg

b $'LX5'vE VaH HN3SIA S'IXS'pE V3H uFISIA] LooLZye [ ol

} SPXOLIN 9'G €66 NIG SIA SYXOLN 9'S €66 NIQ 38NVAHOS| ¥102029 | 6

! SZXCHA 9°S €86 NIG SIA SZXOLIN 9°G ££6 NIQ F8NVaHOS| Z10z0ze | 8

z SGX8 8'8 Z16 NI SIA SSX8IN 88 Z16 NIQ J8NvaHOS| ss000z9 | £
1l 0ZXgW 8°8 Z16 NIG SIA 0zX8N 8'8 216 NIQ IENVHHOS] 5100029 | 9
1 , WN3LOW 3113aNOH| JITHHOSUOLON] 6801109 [ S

L I 00SL ZH 0S A 00%/0€Z oH € ¥NILOW| Wd¥ 0051 2H 0S A 00%/0EZ JH € HOLOW| 1014065 | ¥

l HNILOW IOVNIUONT] SHRIDONITIOLOW| €00LLSy | €

L 334n0d 3@ 3TOIANOD) TIHOIDIONLSIIOM| £00kkar | T

) FINH.AQ ¥N3LNERESIT ITOUIAN0D 303QN383THOSS 10| ZooLioy | |
avallNwD NOLLdI¥0S3d ONNEIFIHOS3E 09103 JoN]
L S'LX5'vE VaH HIMIIN 5'1X5've V=H HOSIA Loolzre Jol |
! SYXQLIN 96 £26.N1IQ MIXDS SYX0LIN 9°5 £66 NIQ.OTUNYOL] ¥102029 | 6
L STXOLIN 96 £86 NIG MIEOS SZXOLIN 95 €86 NIQ OTTINIOL] 2102029 | 8 -

z SSXBIN 88 ZL6 NIQ M3HOS SSX8N 8'3 216 NIQ OTHNYOL| ss000zs | £

m 02X8IN 8°8 ZL6 NId MIHOS| 02X8IN 8°8 ZL6'NIG OTUNMOL]| $Lo00z9 | 9

L HIHSYM MOLOW HOLOW VIZAONVaY| 6504409 | §

1 INJIX 00S) ZH 05 A DOY/0SZ dH £ YOLOW] WdY 005 ZH 0S A DUW/OEZ dH € MOLOW] 1011065 | ¥
b VIO HOLOW HOLOW INVHONT]| eoottsy | € |

L ¥IAOD GY3H IWZIEV0 Ydvi| €00Lior | 2

L YIA0D HOLINERILSIA WO 3LIZ0V ¥OQINERLSIA VdVL] ZooLioy | &

'[avalNyD NOILJIN0S3a NOIOQINOS3a 09109 [N

3SHOVHOLONW
dNILOW IXV
FTANIdS HOL1ON
dO1OW 3rd
Sy-vOL

.




eNONZY ‘0408 N $002-20€0 | ‘ewed |0 uolsinSy
- euinbei N SYI0pISE/TE-TOLNIOLDL olopoi
$002-20-£0 euped NHNATOD '
v uop opelngiq YNINNTO0D :uoidBUILIOUS]
1 ENE RN e IONVYLSNHVZ| 5602102 |9l e
1 £2X9Z@ NOLnog] £2x97@ ANVNXNISIA|{ 100229 | St |
L ZZ-Z1 YOIV IaRIS, ZZ-Z) HOTVMIN HIWNY D] toosors [ vl 9 :
L SELXN IFLIT I TTUATHD SEiXoN NIZTO9IANIM3D| cooyove | €L e ) W
9 yLIN §Z1. NIG IT13ANOY yIN-5ZL Nia 3a3H0s] ooo0ove [zl ]
L. 9N ¥£6 NId NOHD3 9 ¥£6 NI ¥ILLAWNISNVHHOS| £00£029 | L1 e‘ m
9 SPXPLIN 9°S €66 NIG-SIA SPXpLIN.9'S €86 NI IaNVIHOS| 4202029 [oL ° ) e\ N
2 0ZX9W as ££6 NI SIA 0ZX9W As ££6 NId 3anvaHos] zzozoze | 6 ~ _/
g SSXoLIN 88 126 NIG SIA| SSXOLIN 8'8 1€6 NIQ 38nvaros| 660i0ze | 8 | e ° . %
9 , 0¥XyLN 8°8 ZL6 NIG SIA 0pXyLIN-8'8 216 NIQ 38NVHHAG| 5800029 | L , \ W
1 ZH 05 A 00P/OEZ 00XV IANOJOLOW| 05 A 00%/0EZ 00L-XV IdWNIUOLON] Zozsles | 9 W
L IdINOd FDVINTd 3A IHNH JILAOS NVANL 1HISIAYIEY TIONHOBNIdWNG] 189zisy | & N
L HIOANISTY Nd TIOHIANOD, IDIOIAINVL] ssezisy | ¥ W
! INNOTOD 30 IARIS HOSNVIINTTNYS| so9zier | € X
1 3INNOTOD Tinys| toszior | 2 W
1 3sve , sisval -oogzlor | L N
AVaIiNYD NOILdINOS3a ONNGITHHIS3E 091300 [N W
o~
! MOV GIHLOOL va3TvinaNo] seozioz ol W
L £2X97 GONM] £2xoz@ ONOd| 100Zzv9 [si W 3
L 2z SOTVIIN dNYTO 2Z-ZE YOOI V¥3avzZyvaay| 10080v9 | +i N
1 SEIXoW anLs| - " geIXaW ODVENYdSa| coorove | €l @\ W
9 PLNSZL NIG NIHSVM PLN 521 NId VIZONVYY] 90000%9 [zl W
L 9% ¥£6 NIG- LON] 9N €6 NIa vouanL] €oogozg | Ll N
9 SPXPLIN 975 £66.NIG MIMDS SPXPLIN 9°S €66 NIQ'OTUNMOL] ZZ020z29 1oL 0/ _ W
¥ 02X9N-05 €66 NIG MAIAOS| 02X9W ds ££6 NIG.OTIINSOL| zzozoze | 6 = BN e
S GSX9LIN-8°8 1 £6 NId MIUDS SSX9LN8'8 1€6 NIQ.OTTINSOL] 600L0zZ9 | & _ _"
9 OPXpLIN 82 216 NId MIYOS 0PXpLIN 878 216 NIG.OTTINYOL]  scoooze | £ a
! ZH 0S A 00¥/0SZ 00L-XY dNNJOLOW]  ZH 05 A 00#/0€Z.004-XY VEWOSOLOW] ZozsLes | o
L 1371n0 dANd 93d O DNITIRIG VENOS YNINAYTVL VAITYS NOLid] 189Zisy [ & e
L AN NY.L 011S0d3a 13C VdvL| ssozisy | ¥
L JONY IS NWNTOD) VYNWNTOD vaiug| soozioy | €
1 NINTOD) vNWN10o| toszior | 2
1 3SvVE 3sval ooozioy | 1
AVAILNYO NOILdI49S3a NOIDdINIS3A 09100 | oN




‘\4/’

CODIGb

DESCRIPTIdN

DESCRIPTION

Ne DESCRIPCION ) BESCHREIBUNG CANTIDAD

1 | 2502026 |CASQUILLO GUIA GOIDE BUSHING FUHRUNGSBUCHSE BOITE CODUCTRICE ] 1

2 | 4012602 |[SOPORTE SUPPORT - TRAGER SUPORT 1

3. | 4012603 |SOPORTE MESA TABLE SUPPORT GESTELLFUSS PIED DE TABLE 1

4 | 4012604 |MESA TABLE TISCH TABLE ] 1

5 | 4512653 |TAPA DEL SOPORTE SUPPORT GOVER STANDEREDECKEL COUVERCLE bU SUPPORT 1

6 | 4512654 [MANIVELA ] HANDLE HANDKRUBEL MANIVELLE I

7 | 4512667 |ENGRANE DEL SOPORTE SUPPORT GEAR STANDEREINGRIFF ENGRENAGE DU SUPPORT 1

8 | 4512662 |SINFIN ] ENDLESS |enpLos: SANS-FIN o 1

9 | 4512663 |BULON DEL SOPORTE SUPPORTPIN STANDERBOLTZEN ] . |BOULON DU SUPPORT 1
70| 4512654 |TORNILLO GIRATORIO SOPORTE BRAZO |GYRATORY SCREW ARM SUPPORT . | ARMS TANDER-SCHWENKBARE-SCHRAUBE | VIS TOURNANTE SUPPORT BRAS 3
11| 4512665 |TORNILLO DEL SOPORTE SUPPORT SCREW ] STANDERSCHRAUBE ] VIS DU SUPPORT 3
12 | 4512666 |CASQUILLO ] SLEEVE ] ] LAGERBUCHSE ; |sAGUE 1
13 | 4512678 |PITON SALIDA TALADRINA PLATO DRILLING OIL PLATE OUTLET SCHEIBENBOHROLL ABLAUFSTIFT . _|TUYAU SORTIE HUILE PERCAGE BRAS 1
14 | 6200017 |TORNILLO DIN 912 8.8 M8x30 SCREW DIN 912 8.8 MBx30 SCHRAUBE DIN 812 8.8 M8x30 ] VIS DIN 912 8.8 M8x30 4
15 | 6200027 |TORNILLO DIN 912 8.8 M10x30 SCREW DIN 912 8.8 M10x30 SCHRAUBE DIN 912 8:8 M10x30 _|v1s DIN 912 8.8 M10x30 2
16 | 6203004 |TUERCA DIN 934 M8 NUT DIN 934 M8 SCHRAUBENMUT TER DIN 934 M8 ECROU DIN 934 M8 3
17:| 6203008 |TUERCA DIN 934 M16 NUT DIN 934 M16 SCHRAUBENMUTTER DIN 934 M16 ECROU DIN 934 M16 3
18 | 6400007 |ARANDELA DIN 126.M16 WASHER DIN 125 M16 SCHEIBE DIN 126 M16 |RONDELLE DIN 125 M16 6
19 | 8405005. |ESPARRAGO M8x25 _|sTUD Mex26 GEWINDEBOLZEN MBx26. CHEVILLE FILETEE M8x25 3
20 | 6408002 |ABRAZADERA MIKALOR 16-27 GLAMP. MIKALOR 16-27 KLAMMER MIKALOR 16-27 BRIDE MIKALOR 16-27 1
21| 6418004 |MANILLA BTH M16 HANDLE BTH M16 " [HANDARIRF BTH M18 POIGNEE BTH M16 3
22 | 6419003 |MANILLA GIRATORIA DE M10x80 GIRATORY HANDLE M10x80 SCHWENKBARERHANDGRITF M10x80 POIGNEE TOURNANTE M10x80 1
23 | 6437001 |ENGRASADOR 6 EF862 BOLA @3.5 OILER 6 EF862 BALL @3.5 BALL KUGELOLER 6 EF862 @3.6 | GRAISSEUR 6 EF862 BILLE @3.5 2
24 | 6428002 |PASADOR CONIGO @6x60 TAPER PIN gi6x60 KEGELSTIFT @6x60 GOUJON CONIQUE @6x60 1
26 | 6428003 |PASADOR CONICO &7x70 TAPER PIN @7x70 ___|KEGELSTIFT @7x70 GOUJON CONIQUE @7x70 1

Denominacion: CONJUNTO MESA _Dibujado Jon c ‘ SA
s ‘ GIRATORIA INCLINABLE Fecha 11.12.2002 o
Modelo  [TCA-32/35/40/45 V-40/45 N°® Maquina E R I—— o
Revision 0] Fecha | 11.12.2002 N° Serie Azkottia






